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Hyd & Irr.Engg

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all Five questions from Group B, each question 

carries 4  marks.

Answer all Five questions from Group C, each question 

carries 8 marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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Establish the relationship between delta, duty and 

base period.

 

Compare advantages of flow irrigation with that of 

lift irrigation.

 

base period of 120 days. Find the duty of water 

8.

8

OR

9.

Old Syllabus

OR

8
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)        

P.T.O

OT5014OT5014

Hydrology is the science which deals with 

(a) Rain water 

(b) River water 

(c) Sea water 

(d) Surface and underground water 

The instrument used for the measurement of

wind speed is  

(a) Anemometer  

(b) Rotameter 

(c) Odometer 

(d) Atmometer 

Mention any four advantage of drip irrigation 
method.

OR

Answer all Five Questions. 
8 x 5 = 40

Write down factor affecting Run-off.

Explain the cause of failure of  earthen dam. 

OR

8
7.
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(iii)

(iii)

(iv)

(ii)

Jawaharlal Nehru lift irrigation scheme is 
located in 
(a) Rajasthan    
(b) Bihar 
(c) Haryana 
(d) Panjab   

Cyclonic precipitation is caused by lifting of 
an air mass due to   
(a) Pressure difference  
(b) Temperature difference 
(c) Natural topographical barrier  
(d)  All of the above 

OT5014 OT5014

Enumerate soil conservation measures in short 

Determine the delta for a crop for the following 

given data. Duty =1200 hectare/cumec, 

Base period= 100days

OR

OR

5.
4

4

6.
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(v)

(v)

(vi)

(iv)

Unit of discharge in M.K.S system is 

(a) Square meter  

(b) Meter second 

(c) Cubic meter 

(d) Cubic meter/second 

The soil becomes practically infertile when 

its pH value is about 

(a) 0 

(b) 5

(c) 11

(d) 7

                                   OR

4.

OT5014OT5014

OR

Write four factor affecting duty

Enumerate advantages of drip method of water 

application. 

 

3.

4                     

4                     
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(vii)

(vii)

(viii)

(vi)

Answer all Five Questions. 

2.

4

4 x 5 = 20

Explain wilting point and permanent wilting point.

(xx)

OT5014 OT5014

Kor-watering is the irrigation water supplied 
to a crop  
(a) At the time of its sowing   
(b) Just before harvesting 
(c) About three weeks after sowing 
(d) About three weeks before harvesting

D
B 

D

D

D
B 

D

D

D
B 

D
B 

(a) D = 864B 

(b) D = 8.64B  

(c) D = 8.64  

(d) D = 8.64

The relationship between the duty D in 
ha/cumecs, the water depth D in cm, and 
base period in days, is given by
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Flow irrigation is done from 

(a) Canals  

(b) Wells 

(c) Tube wells 

(d) None of these 

Evaporation taking place from plant surface 

is called 

(a) Interception 

(b) Interflow

(c) Infiltration 

(d) Transpiration 

The duty is largest 

(a) At the canal of main canal 

(b) At the head of branch canal 

(c) On  the field 

(d) At all places. 

The development of water resources in India 

is due to adoption of 

(a) National water policy   

(b) Land policy 

(c) Resources policy 

(d) None of these

(ix)

(ix)

(x)

(viii)(xviii)

(xix)

(xx)

(xix)
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The consumptive use varies with 

(a) Temperature    

(b) Humidity 

(c) Soil topography 

(d) All of the above 

Which major river or its tributaries does not 

cause perpetual flood in Bihar.  

(a) Brahmputra  

(b) Ganga

(c) Koshi 

(d) Gandak 

Shape of gravity dam is

(a) Triangular   

(b) Square 

(c) Trapezoidal 

(d) Rectangle 

Lining of irrigation channels 

(a) Increases the water- logging area  

(b) Decreases the water - logging area 

(c) Does not change the water logging area 

(d) None of the above 

(xvii)

(xvii)

(xviii)

(xvi)

(xi)

(xi)

(xii)

(x)
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Mixed crop of the following is  

(a) Rice   

(b) Wheat 

(c) Sugarcane 

(d) Wheat and gram 

Which water is not available for plant growth ?

(a) Rain water 

(b) Irrigation water 

(c) Hygroscopic water 

(d) None of these 

Suitable method of irrigation for uneven 
ground is  
(a) Sprinkler irrigation  
(b) Furrow irrigation 
(c) Free flooding 
(d) Check flooding 

The structure constructed accross a canal to 
low down its water level is 
(a) Head regulator  
(b) Cross regulator 
(c) Canal escape 
(d) Canal fall 

(xiii)

(xiii)

(xiv)

(xii)

(xv)

(xv)

(xvi)

(xiv)

OT5014OT5014
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Describe the curative measures of water logging.

Explain term consumptive use of water and mention 

any four factor which affect it.

types of cross-drainage works.

OR

10.

OR

8

8

11.
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Describe the curative measures of water logging.

Explain term consumptive use of water and mention 

any four factor which affect it.

types of cross-drainage works.

OR

10.

OR

8

8

11.
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